
Solution to Harvard Puzzle "Where the Trees Stand Still" 

D E F I N T I N S T R
U M E N T A N G U L A
R S C E E N E D R E P
A S T P R O P A E D E
L T A L O V E R L O S
E R B O D E R E E S T
A Y O D E S S A W T A
N S A S S E O N D E P
O T R I P E N O R R E
M I D L A N B U R S D
I N N E R F U N A C E

 
The omitted letters (in parentheses in the list below) spell 

ARNOLD ARBORETUM 
 

Across 
1. DEFI(A)NT 
2. INSTRUMENT 
3. ANGULAR 
4. SC(R)EENED 
5. REPAST 
6. PROPA(N)E 
7. DELTA 
8. LOVER 
9. LOSER 
10. BODE 
11. REE 
12. STAY 
13. ODESSA 
14. W(O)TAN 
15. SASS 
16. EON 
17. DEPOT 
18. RIPEN 
19. (L)ORRE 
20. MIDLAN(D) 
21. BURS(A) 
22. DINNER 
23. FU(R)NACE 

Down 
1. DURA(B)LE 
2. ANOMIE 
3. M(O)SS 
4. TRYST 
5. INFECT 
6. ABOARD 
7. NINE 
8. PLOD 
9. SILENT 
10. ERODE 
11. SPARTAN 
12. OVE(R)SEEN 
13. FINE 
14. PERSON 
15. BUNG 
16. DARE 
17. ANO 
18. UNSURE 
19. LEWD(E)R 
20. RA(T)TLED 
21. O(U)STER 
22. SCRAPE 
23. STA(M)PEDE 

 
Kevin Wald solved the puzzle in 50 minutes. 


